STOICHIOMETRY: Name

- MIXED PROBLEMS

LN, +3H, — ONH, <S50 Mg = 7T LnH,
What volume of NH, at STP is produced if 25.0 g of N, is reacted with an excess
of H,?
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2. JKCIO, = IKCl + ZO, 5:09 KCO,— 71 O,

If 5.0 g of KCIO, is decomposed, what volume of O, is produced at STP?
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3. How many grams of KCl are produced in Problem 27 -
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What volume of hydrogen at STP Is produced when 2.5 g of zinc react with an
excess of hydrochloric acid?
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5. HSO, +{NaOH —JH,0 + Na,sO, 204 Nag 7 ekic. o By O

How many molecules of water are produced if 2.0 g of sodium sulfate are
produced in the above reaction?
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If 10.0 g of aluminum chloride are decomposed, how many molecules of Cl,
are produced?
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STOICHIOMETRY: Name

VOLUME-VOLUME PROBLEMS

(7

N, +~5‘H2 - 4 NH, 5 L f\)\ = ? L E Q
What volume of hydrogen is necessary to react with five liters of nitrogen to produce
ammonia? (Assume constant temperature and pressure.)
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What volume of ammonia is produced in the reaction in Problem 17
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CH, +50, — 3CO, +4H,0 WO A Oy =Tk CO,

If 20 liters of oxygen ‘are consumed in the above reaction, how many liters of carbon
dioxide are producéd?
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4.0H0 —IH, + 0O, 30 m Hy="7mlL Oy

If 30 mL of hydrogén are produced in the above reaction, how many milliiters of
oxygen are produced?
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How many liters of carbon dioxide are produced if 75 liters of carbon monoxide
are burned in oxygen? How many liters of oxygen are necessary? g L D
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STOICHIOMETRY: Name _ AL 4]/
MOLE-MOLE PROBLEMS

1N, +4H, — J/NH,
How many moles of hydrogen are needed to completely react with two moles
of nitrogen? .
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2. JKCIO, — JKCI + 40,

How many moles of OXygen are produced by the decomposition of six moles
of potassium chlorate?
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3. Zn +JHCl — nCl, + H,

How many moles of hydrogen are produced from the reaction of three moles
of zinc with an excess of hydrochloric acid?

3 mols 2u | ImelH, _
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4. CH, +50, — 3cC0, + t/H,0
How many moles of OXygen are necessary fo react completely with four moles of
propane (C,H,)?
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[5.)KpPO, + ANO), — 3KNO, + APO,

How many moles of potassium nitrate are produced when two moles of potassium ‘
Phosphate react with two moles of aluminum nifrate?
2 ek S Ka POy | 3 mels KNO3 - s KND~
T%}L' ‘ | ke K'.T') \)(\h“.l h

J ™M cv'{'%&q‘\u\l C*-%)_ 4| 3 kS KNOz = b wd kl\'uf‘;_,., ow :JQ._:) Km D:}_

YWl Al (INO2) =

Chemistry IF8746 62 @instructional Falr, Inc.



STOICHIOMETRY: Name
MASS-MASS PROBLEMS

1..2KCIo, =2kl + 3o,
How many grams of potassium chloride are produced if 25 g of potassium chlorate

decompose? .
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2. N, +3H, — JNH,

How many grams of hydrogen are necessary to react completely with §0.0 g of
nitrogen in the above reaction?
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3. How many grcms of ammonia are produced in the reaction in Problem 25‘
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4. JAGNO; + BaCl, — JAgCI + Ba(NO,), 5.09 Rgnog '—-jj AgCl

How many grams of silver chloride are produced from 5.0 g of silver nitrate reacting
with an excess of barium chloride’?
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5. How much barium chloride is necessary to react with the silver nitrate In Prob!em 47
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